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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Study the below series and identify what can
come in the place of 7"

GAS27,IEU35, MIY47, OMA29, SOE39,
US40, 7

(A) WUMS7

(B) WWO61

(C) YUMS9

(D) YWN62

Study the below series and identify what can

come in the place of 7",

3947, 4379, 7493, 9734, ?
(A) 9437
(B) 7934
(C) 4793
(D) 3947

[fthe symbols “+" and “—" are interchanged,
“*" and “+" are interchanged, and also the
digits “3" and “7" are interchanged, then
what will be the value of the below equation?

83x7-79+63+7
(A) - 133

(B) -350

(C) 244

D) 511

GalririZ

Ql

Q2

Q3

Frfafea sjaer o1 o afv s =t
WERE (“77) @ ®F W @ ur ug
SATCAT |

GAS27, IEU35, MIY47, OMA29, SOE39,
USI49, ?

(A) WUMS7?

(B) WWO6!

(C) YUMS59

(D) YWN62

Freiferi sfaen o1 o siv s =% s
gefEE (Y9 @ wE g @ W g
et |

3947, 4379, 7493, 9734, 7
(A) 9437
(B) 7934
(C) 4793
(D) 3947

uft FPreafeftee wfewor § «4 afiy «»
B TF—gEN W 754 f2ar e cx e
“+" DI BTN A q5d faur W, aen
3t “37 3w “7" B f vH-gat ¥ g7
fear s o 19 Ry v i 519
a1 grm?

83%x7-79+63+7
(A) - 133

(B) -350

(C) 244

(D) 511
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The ages of husband, wife and their son are
in the ratio of 10 : 9 : 3. To calculate the age
of the son, which of the below pieces of
information is additionally required and
sufficient?

(A) Before 6 years, the age of the son was
20% the age of his mother then.

(B) After 10 years, the sum of the ages of
all three will be 30 more than the sum
of their present ages.

(C) Thedifference between the age of

father and son is more than the

difference between the age of mother
and son.

(D)

The sum of the ages of all the three isa

perfectmultipleof 11.

The perimeter of a rectangular ground with

corners A, B, C & D is 28 metre, To

calculate the area of the ground, which of

the below pieces of information is additionally

required and sufficient?

(A) The length of the diagonal AC is same
as the length of the diagonal BD.

(B) Thesum ofthe diagonals is 8 metre less
than the perimeter of the rectangle.

(C) 'The perimeter of the rectangle is greater
than 50% of the area of the rectangle.

(D) Thesum of all the internal angles of the
rectangle is 360°.

Q4

Qs

gfey, 7=l 3fR 9 g 1 Y B JFI

10:9:3%| g7 & g @ T FE B

fore, Fyerfafae o @ gon & fow s

# ayfafte w1 9 aw@ao 89 o

qate g

(A) 6ad qd, q= & g 0 wHa IHH
o N 3y H 20% 49|

@) 10 ad wrg, F= H IY T A,
I ataE Ay @ An 9 30 Afg®
BT |

(C) fen 3fv 4= & wex 1Y F 3L, H
AR 73 & g Ay B W | oD
2]

(D) @t # g F AT 11 P T
2|

A, B, Calw D #FT ad smuarer HEH

o1 ufmm 28 drex 8| M @ aAvd

o @ @ farg, Preferfa 4 @ Ee &

frg ain & sfaRea w9 | FEEHT

srft @1 waie | Er?

(A) faavt AC & wiard 9erhl & Rrerht 6
fawot BD 9 warg &)

(B) Imaa @ fawol @ A IEa D
qftnm § 8 Aew @9 #)

(C) @y &1 9fAm, I B A=Ed
50% fa & |

(D) amaa @ woft afafa B F1 A
360° # 1
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We need to find the value of *a’ from the

below two equations, if both a and b are

positive integers.

1) 2a+b=22
2) 3a-2b=12

Now, read the below options and select the

one that applies.

(A) Only Equation | is sufficient to derive
the value of “a’.

(B) Only Equation 2 is sufficient to derive
the value of 'a’.

(C) Neither equations | or 2 alone are
sufficient, but both together are required
to derive the value of “a’.

(D) The value of ‘a’ cannot be derived by
any individual equation or even by both

equations combined.

If in a coded language ‘PEASANT" is
written as ‘RQYVYHN’, how will
‘RANCHER’ be written in the same
language?

(A) PHFFPDL

(B) PLDPHFF

(C) PHFFLDP

(D) PFFHLDP

S0ED

1877

Q6

Q7

R a 3R b T O s £
Frefafae el @ & o0 &1 5
ST FEA1 B

1) 2a+b=22
2) 3a-2b=12

aa, Frafefes e ud s o 9 o
W ey & 8Y, swer wan Hifor |

(A) ‘a" & wF 919 v & fov dag
T | gafe &

(B) ‘a’ &1 WH i v & forg Faa
TS 2 yaie &

(C) ‘a’ &1 wF T T & fog =1 o
den Wil | gater @ el = &)
e WaveT 2 vt 8, gig 2l
™ A s §)

(D) *a’ &1 7 fe f va wdresvor §
7 s fem o wew 8, gsi 9%
f 2T it @ wye w9 @ 9
el s fban @ wewn

U@ G W 7 Ay ‘PEASANT &I
‘RQYVYHN' feran siren 8, o ot &
11 % ‘RANCHER' @1 &%) farar som?
(A) PHFFPDL
(B) PLDPHFF
(C) PHFFLDP
(D) PFFHLDP

SERIES-A-F




Q8  Studythe given table carefully to answer the Q8 fr=fofaa ofas &1 T 8 @ 3R

question that follows. IaD ¥ AU 7 9T & I R < |

Sale (in crores) of no. of units by four ar Hfal g fes oo adl 4 6

companies (cos.) over the years (yrs). gfew @ fash (S )

Co.\yr| 2015 | 2016 | 2017 [2018 | ¥./®] 2015 | 2016 | 2017 [2018 |
A | 1158 85.7 | SK9 [466 | A | 1158 ] 857 | 589 |466
B_ | 150.1 | 76.3 | 37.2 |39.1 | B_|150.1 | 76.3 | 37.2 [39.1
c | 933 ] 695] 53.7 [489 c | 933 | 69.5 | 53.7 [489
D 1806 ] 111.1] 21.2 [334 D | 1806 111.1] 21.2 [334

Which company has sold the maximum num- fioa @ a4l # 5w I 3 e

ber of units over the years? e # gfyea & A @7

(A) A

®) B (A) A

€ C (B) B

D) D (C) C

., ©D
Q9 If P+Q impliesP-Q 2 Q9 aR P+Q @ #P-Q,

P-Q impliesP xQ P-Qwr aef 8P xQ,

PxQimpliesP+Q PxQ@® 3l RP+Q,

P+QimpliesP+Q P+Q@ ol & P+Q, @

Which of the following is TRUE? frefaftaa 3 @ @9 W Tuw o 87

(A) 1+2-6%x3+8=8 (A) 1+2-6x3+8=8

B) 6+2-3x1+4=12 B) 6+2-3x1+4=12

(C) 25+6-45x9+23=18 (C) 25+6-45%9+23=18

D) 10+4-3x]1+2=35 (D) 10+4-3x]1+2=5

Q10 Find the odd one out of the below geometrical Q10 fFr=ffae smivdm amsfival 4 @ =

shapes. Frpta A usEE i |

Rhombus, Triangle, Square, Parallelogram, wagye, e, o, wwioR agde, s,
Rectangle, Trapezium T T

(A) Rhombus (A) TRl

(B) Triangle (B) Prg

(C) Panaliclogram (C) Wi agf

(D) Trapezium (D) W wg
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Find the odd one out from the below group
of names.

Guava, Watermelon, Lettuce, Apple, Kiwi,
Mango, Pear, Pomegranate

(A) Lettuce

(B) Kiwi

(C) Pear

(D) Pomegranate

Study the below diagram and identify the
option that is NOT correct.

(A) Some lions are not goats
(B) Some goats are lions
(C) Lionsare not singers
(D) Some goats can sing

2540810

Qll F=foafem m wEl # ¥ swma @

g Sifey |

HAHE, TG, FATT—TT, A, B, I,
AT, 3R

(A) HelTE—gw
(B) @

(C) =rergreh
(D) IR

Frfafm st &1 segs o¢ afie 9w
Rew & aa7 ¥ & wf 98 &

®

(LT

(A) BB I T@fai - &
(B) &9 sofu ¥v &
(C) % Tus 7! &
(D) =w w=fal m v &
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Two positions of a dice are shown as below.
If the number 6 is exactly opposite to number
4, then which number is exactly opposite to
number 37

L Ey e AR W
[+
2

(€)
(D)

o WU ) =

Deepak left his home and walked 4 km
towards east, then turned left and walked 3
km to reach his office. His sister Deepika
left the same home, walked 16 km towards
east, then turned left and walked 8 km to
reach her college. What is the shortest
distance between the office and the college?
(A) 10km
(B) 13km
(C) 17km
(D) 18km

Q13

Ql4

Frefafan o v TR & @ Refoa
vefifa & 7 € oft ¥or 4 TE oS
@ fiene Rvda 68 o wem 3 9
e @ fene fvda #F @ wen 87

. '
(A)
(B)

(©)
D)

LA B -

us vy o & o0 ams WA
PrEaat 4 km [¥E 2 3R wom 8,
A ¥ @ 3 km TR0 &) THH TEA
&fte dfaw o9 @ for o w9
Prvera@e 16 km qvd &) 3R o 8, iR
fx ¢ 78 @ 8 km T &) i
IR Sica @ g gom g8 o 87
(A) 10km
(B) 13 km
(C) 17km
(D) 18km
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If the pentagon shown below is rotated anti-
clockwise 270° three times, the thombus is
rotated clockwise 45° four times, and the
mirror image of the alphabet is used, then
what is the resulting figure?

©

®
©) @
®

Q15 afe Fr=ifeftr # weffa veanga &) vl
@ g€ B Roda R & &= aw 270

g e 8, Feagye ol 6 qd A
fawm % ar a® 45° gorn omn 8, i
e wvy wfafda S fasar o 2,
a1 aRemh srpfe B9 W@ enf?

(A)

(B)

(©)

(D)

B@R@-
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Below is a statement followed by two
conclusions. Read the statement and
conclusions and determine which
conclusion(s) logically follow{s) the statement
giver.

Statement:

For late return of books by readers, a library
charges penalty of T 10 per day for the
number of days of delay beyond the due date

Conclusions:

I) Penalty forcostlier books will be
higher.

1)  Penalty for lighter books will be lesser.

(A) Onlyconclusion | follows

(B) Only conclusion Il follows

(C) Eitherconclusion | or Il follows
(D) Neither conclusion | nor Il follows

Choose an option that is a valid assumption
for the below statement,

Statement:

The Ministry of Railways introduces
additional Holiday Special trains and also
adds extra coaches to existing trains during
vacations.

(A) During vacations, kids love to travel by
trains instead of aero planes.

(B) Passenger traffic in trains significantly
increases during vacations.

(C) People need change and like to see new
trains during vacations.

(D) Engine drivers like to work for more
hours during vacations.

| Z90R0s

1

Q16

Q17

Pyt vs wue v gww Wt @)
fyerd fag o & | e afR et &) 0@
ar Puiftes = & 217 @1/9 P
mfds v @ Ry 17 Fum & S
war /o /&)

Y

Ue qrerdTerd el g1 e § gwrd
aoE S U, A # Feiie B @
are fasifaa R+ @ e e R T 0@
weigs o &)

e

N wEh gt & fag aeids s
BT |

m weh qewt @ fag seies @9 @)

(A) daw fresd | agwRer ovan 8

(B) Pae fFresd 11 argewor o #

(C) @ & Frepd [T Fresd 11 raew
e 8

(D) = @ Fresd 1afw 7 & Fresd 1l

Fgawor v &

34 few &1 uga difg o Fr=fafem
wy @ forg A qEaren 81

Y

¥ warea A uftdt @ fog g Wa
2 wad & ar divEr 241 7 affew
fem oire B

(A) BfEal § g garg ET @ qU
9 W Gl BT THG Y #
®) giedt @ dem oAt # w9
g i # )

(C) w1 gftdl § agm uEd & IR 7§
29 TW UHE R |

(D) &= wroe gigdl # It U2 am
BT YHE T B
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Read the statement below and two courses
of action given. Choose which course(s) of
action need(s) to be taken with regard to
the statement given.

Statement:

Despite having a standard work timing of
10amto 6 pm, there has been more number
of cases of employees reporting late for
work, which affects the work flow in the

factory.

Courses of Action:

. Theemployees must be givena
waming and strict disciplinary action
must be initiated if no improvement is
found.

Il.  The work timing must be made flexible
so that everyone is able to come as
per his or her own convenient time,

(A) OnlyAction | needs to be taken

(B) OnlyAction Il needs to be taken

(C) Either Action [ or Action Il needs to
be taken

(D) NMeither Action | nor Action Il needs to
be taken

If Puzzle :: Solve, then Essay :: 2. Identify
what can come in place of 7",

(A) Resolve

(B) Dictate

(C) Recite

(D) Write

Q18 Fr=faftun wem =t s gwa #a § T
31 frafaft 1 @) 9w o¥ @ Ry
T P @ Hed | B @ ok
oAl sgd st anfg

Y

-G D HH Ay Jaw 10 a9
W Wi 649 TF B B TrauE, 0 A
T BER sl am R R A
I & fored svar # sm-am mofaa
grar 81

farmfafe:

L. wHefE @ daeh @ o @ afe
1§ Jur T8 g &, oY IS e
BOR FORAIES PRI 2
e |

. @/ &yl 6 g wfite R
e FEr s gRueEs
GY & 9 3T 6D |

(A) #aa fsafafey 1 agemd on vk &

(B) ¥aw fasafaf® 1l argwd o wach £

(C) @ o fsanfafer 13w 1 aroemd
wadr #

(D) = o fmfafey (i =1 & fsoff o
H9TE o wedl 8

CLIa0.7

Q19 afe wdeh :: wamm, o fraw o7 ffeew
N 6 ywEfaes () @ we w
Freferfr # & @ & weg an waar 27
(A) &9
B) feraarn

(C) srgara
(D) feram

1



Q20 Select the option that is related to the third

term in the same way as second term is
related to the first term.

Temperature : Thermometer :: Humidity : ?
(A) Spectrometer
(B) Seismometer

(C) Hygrometer
(D) Osmometer

In a certain coded language, if “LITMUS™
is written as “SMIUTL" and “INDIGO" is
written as “OINGDI”, then how is the word
*JAGGER’ would be written in that language?
(A) RGAEG]
(B) RGIEGA
(C) RGAGEJ
(D) RGIEAG

In a certain coded language, if “TABLE is
written as ‘VEDNI" and ‘CHAIR is written
as ‘EJEOT", then how is the word ‘BENCH’
would be written in that language?

(A) DIPFJ

(B) DGPEJ

(C) DIPE)

(D) DGPFT

If P@Q means P is the husband of Q; JFL
means L is the son of J; and N¥M means N
is the brother of M, then which of the below
options definitely states that B is the mother
of A?

(A) A#BSC@D

(B) CSD@A#B

(C) BSC#A@D

(D) D@B#CSA

L LOE

020 TH fawed ® gaq B o drE e |

S v A wafaa & fore avE 4 g
T UEd e 9 wHafaa 2

AT - @R @ aear - ?
(A) Hagriey
(B) Hredes
(C) EgumireR
(D) affeiieR

e W W A afz “LITMUS" &I
“SMIUTL" feran wimar & @enm “INDIGO”
BT “OINGDI” feran e &, df o e
wrar % W ‘JAGGER® &1 $a fow
wgm?

(A) RGAEGJ

(B) RGIJEGA

(C) RGAGE)

(D) RGIEAG

e & W # afd “TABLE’ &1 “VEDNI'
forn o ® o *CHAIR” &1 ‘EJEOT"
forean wiem &, o 9 I W § BENCH'
1 &g foran wmgm?

(A) DIPFJ

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

R p@Q@m i e QE uR P
JHL @1 e & f5 ) @1 g3 L ?; 3w NSM
o1 ol & 5 M @1 N8, & Pt
# 9 7w e gRRma s @
AT At BR?

(A) A#BSC@D

(B) CSD@A#B

(C) BSCHA@D

(D) D@BHCSA
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Given below are four statements followed
by four conclusions. Identify which
conclusion(s) definitely follow(s) the given
four statements disregarding the commonly
known facts.

Statements:

1. Alldogsarecats

2. Some cats are tigers
3. Alltigersare lions

4. Nolionisadonkey

Conclusions:
]
1)  Alllions are tigers

Some cats are dogs

lll) Somedonkeys are tigers
IV) Notigeris adonkey

(A) Onlyconclusion I follows

(B) Only conclusions Il and IV follow
(C) Onlyconclusions [I and 11 follow
(D) Onlyconclusions [ and IV follow

If the below alphabets are formed as per
the ascending order of their appearance in
the standard alphabet series, then which
meaningful English word can be formed using
the alphabets in 1%, 4%, 6™, 9" and 16"
position from left?

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME

200852156

13

Q24 fFy=fofm & an $u= 3w ous a2 9

Q25

frepd fay 7y &) fofte & B @
/¥ Fesd e o st @ fAiftas
w9 | IgE sl 2/8 w@ & A
WG WY 8w oeat | e el

el

i o fafesrar €
%o faftaai ag &
il O 9w &
BI% 9N Ty G #

Y

Foresnd:

D = fftaa o= &
I & 9% ag &

1 w9 ™ am #
IV) &1 amg mar 81 &

(A) Fact Frepd 1 arparor s 8

(B) el frerd 113 IV sreRer we
. :

(C) Faet Frepd 1 3w 11 e F
g

(D) @aa Frepd 13RIV arere s
g

ot Prefaftm st w1 wme ofes @
STER O w9 A ST oy, o 9 9
uEd, W, 83, ¢ it Weed wE I
el | B ur iyl ofioh e Aiffa
1 waar 87

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME
SERIES-A-F
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

As of April 2019, who is the Governor of
the state of Maharashtra?

(A) E.S.L.Narasimhan

(B) C Vidyasagar Rao

(C) Palanisamy Sathasivam

(D) Anandiben Patel

What does article 300A of the Indian

Constitution aim to guarantee?

(A) No person shall be deprived of his
education.

(B) No person shall be deprived of his
marital rights.

(C) No person shall be deprived of his
property.

(D) No person shall be deprived of his
privacy.

Articles 324-329 of the Indian Constitution
deal with which of these aspects?

(A) Elections

(B) Minorities' protection

(C) Panchayats

(D) Powersof a governor

Currently, what is the highest percentage slab
for the new tax regime called Goods and

Services Tax (GST)?
(A) 18%
(B) 25%
(C) 28%
D) 32%

15

210467

i4

Q26

Q27

Q28

Q29

et 2019 16 T AFAHE B FTHR
HERTS W &1 AT B 87

(A) fonya. RiEE

(B) # furarr wma

(C) garfard wafiem

(D) A 9ed

A WU @1 aEEie 300A Frefef

¥ ¥ Rraall M dam 87

(A) o8 N afem swh e | ofm
w8 WA

B) o1 M aff ae dafts Rl
| aftrey 8l &My

(€) = A afem soh wofty & afta
TE R0

(D) #Y N @ s Froer (@Edh)
H afom w8 W@

widtg wfwm @1 aEE 324329
frfafam # & 5 geq @ wafa 87
(A) g7

(B) Jrcqwiea®] &1 Gl

(C) e

(D) U rouura 1wt

qer #, avg vd W W (RN 0
wieaa 29 (GST)) 7 1§ T aaw
& fag geem wftwa wie faaen 27
(A) 18%

(B) 25%

(C) 28%

(D) 32%
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Q30 Bezwada Wilson is a social activist who was

Q31

Q32

awarded the Ramon Magsaysay Award in
2016. What is his sphere of social activity?
(A) Emdication of child labour

(B) Eradication of female infanticide

(C) Eradication of manual scavenging

(D) Eradication of child marriage

With which foreign country is India
collaborating to develop the supersonic cruise
missile called Brah Mos?

(A) France

(B) China

(C) Japan

(D) Russia

Prime Minister Narendra Modi addresses the
nation through his radio broadcast called
‘Mann ki Baat'. When did this program get
aired for the first time?

(A) October 2014

(B) October 2015

(C) October 2016

(D) October 2017

LM-A
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Q30 wAuare fAewa vs amifoe srdeal §

Q31

Q32

o 2016 % Y= A9 QR @ wenfag

fan an an | 9w Fe=fafea 4 @ s

&= A v wrfors nfafafel s £

(A) AT ¥ & T

(B) 1 U1 &1 BT TG

(C) i whURim (s A Rt ga
WO ) B I

(D) e fra® &1 S

Brah Mos =19 {ovHife ma fremge
®! el & & forg s vm fre 2w @
e e W o e 87

(A) wIH

B) @

(C) T

(D) ¥

T e 4 @ e gewe @
w9 W B Haife o & RN e
@ ARy W G 8 | 8 Brdwn gEel)
TR T wEa gan?

(A) JEET2014

(B) araRpaw 2015

(C) IwAR 2016

(D) arawpav 2017
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Q34

Q35

Q36

LM-A

United States is the country with the world's
largest GDP. Which country comes second
in the global GDP ranking?

(A) Japan

(B) Germany

(C) China

(D) India

Abdelaziz Bouteflika, the President of
__ ,hasresigned in April 2019 bowing
to public pressure.

(A) Sudan

(B) Libya

(C) Chad

(D) Algeria

Name the new CEO of the International
Cricket Council (ICC) after the Cricket
World Cup 2019.

(A) Sunil Gavaskar

(B) Sharad Pawar

(C) ManuSawhney

(D) Rahul Johri

Name the ex-CEO and MD of Ashok
Leyland who took over as the CEO of Royal
Enfield.

(A) Vinod K. Dasari

(B) Dheeraj Hinduja

(C) Rajeev Dubey

(D) GV.Prasad
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Q33 wggw wou MR givar &1 W 4@

Q34

Q35

Q36

GDP (w&a &Yl 9ee) grar 49 8 | &
w1 29 &fta® GDP ¥Hn 3 g ®IF W
T 87

(A) I

(B) WY

(C) 9

(D) wra

& Ul sred sira gaefiea
A e 2019 % wmer & Fav @ i
god 57 g € faam )

(A) =™
(B) ohfaan

(C) =18
(D) arsonian

frde R ¥ 2019 % 78 sy
fsde yfwe (1ICC) & =17 Mgah & ™
qarEy |

(A) A Ty

(B) ¥IRT AR

(C) w7 wm

(D) g e

seie dAiefs @ gd widan s vl @
w1 M § ek e vidies @ Wi
F &9 # SR e 87

(A) fo9g & Tam

(B) A fEgom

(C) woha ga

(D) W yarg
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Q37

Q38

Q39

Q40

Name the cricket team that is number 2 in
international test ranking, as per ICC, as of
March 2019.

(A) New Zealand

(B) SouthAfrica

(C) Australia

(D) England

Who was chosen as the captain of the Delhi
Capitals team for IPL 2019 season?

(A) Virendra Sehwag

(B) Ravichandran Ashwin

(C) Shreyaslyer

(D) Shikhar Dhawan

In which state has the National Cancer
Institute (NCI) been set up in early 20187
(A) Rajasthan

(B) Punjab

(C) Haryana
(D) Himachal Pradesh

Which is the leading areca nut producing
state in India?

(A) Kerala

(B) West Bengal

(C) Manipur

(D) Kamataka

LM-A

Q37

Q38

Q39

Q40

AT 2019 0% IuTE THABN B FTER,
g sieniefia e ¥ daw 2w
A arelt fvde & @1 I T &2
(A) oircts

(B) =fyor e

(C) i fer

(D) §Is

IPL 2019 ¥ror & for feeht dfiea @
s B w9 A B g o &7

(A) dNw HEarT

(B) fawes wf¥as

(C) sgw Jur

(D) frar aas

2018 @ yvaima H fa wow #F W
#E HWIF (National Cancer Institute
(NCI)) venfirer fsar an 87

(A) roTeer

(B) 9vm

(C) sRgrom

(D) fewras adr

HRa A 9" g Swes ey
Fr=forfaa & & @5 W &

(A) @

B) uftem @mre

(C) =g
(D) FHle®
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Q41

Q42

LM-A

Name the 70-year-old lady from Odisha
who was awarded the Padmashri award for
her work of preserving of hundreds of types
of paddy seeds throughout her life.

(A) S.Thimmakka

(B) Kamala Pujani

(C) Harika Dronavalli

(D) Muktaben Pankajkumar Dagli

The first areca nut to get the Geographic
Indications (G1) tag is the Sirsi Supari. In
which state is this supari grown?

(A) Kamataka

(B) Bihar

(C) Andhra Pradesh

(D) Odisha

In which town of Uttar Pradesh would one
find the 11 storied Pagal Baba Temple?
(A) Vrindavan

(B) Varanasi

(C) Samath

(D) Chitrakoot

StLanz
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Q41 anfEe A ww 70 Ty wften @ g T

Q42

Q43

# ford oftam WY dHSl wHR @ e 4
& weew & el $ faw gnsh R |
s fda Tan?

(A) TH. feysast

(B) THe TR

(C) sR@1 domae

(D) R GG e

o o weeh v w1 & o Aenfors
waas (GI) &v wra gon &) a8 gud
fra woa # S wen &7

(A) TR

B) fREr

(C) g waw

(D) anfewm

IR wou @ frw wew A 1) Wt o
aran wiRw figmn?

(A) F=m

(B) R

(C) W™

(D) Femae
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Q44 The tomb of which of these ancient emperors

Q46

is located in the Sasaram town of Bihar state?
(A) Bahadur Shah Jafar

(B) Alauddin Khilji

(C) Sher Shah Suri

(D) Qutb ud-Din Aibak

The area called Bundelkhand comes under

which of these borders?

(A) Uttar Pradesh — Bihar Border

(B) Uttar Pradesh - Madhya Pradesh
Border

(C) Untar Pradesh - Nepal Border

(D) Uttar Pradesh — Uttarakhand Border

Computer tools such as Word, Excel and
Power Point are products owned by which
of these companies?

(A) Intel

(B) Apple

(C) Microsoft

(D) Google

Timothy Donald Cook, popularly known as
Tim Cook, is the Chief Executive Officer
(CEO) of which of these companies?

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

LM-A
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Q45

Q46

Q44 fRER w0 & wranm wew § FreafafaEa

fe urdim wwe @1 gy flea 27
(A) TETGY ¥E BT

(B) sa3f Raa

(C) ¥vame

(D) FHIA-F8—41 Vad

qeaas @ &9 Frafaftea g
@ st amer 87

(A) SR WaW - faEw A

(B) STR WaW — wWey waw A

(C) TR waw — Aqrer

(D) IR UM — STRAveE A

FYSY & g O 5 Word, Excel 3R
Power Point A=ifarfaa o 9 s so+h
& yreae &

(A) Intel

(B) Apple

(C) Microsoft

(D) Google

fevireht SFice ®, Rord fow 5% @ =m
@ wrn onen @, Frefafam 8 @ R
ol 3 qum srde afram
(Chief Executive Officer (CEO)) &

(A) Google

(B) Twitter

(C) Amazon

(D) Apple
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Q48 Inthe context of Microsoft Word, there is a
feature called ‘Gutter Margin’. What is this
feature used for?

(A) Improve the clarity of graphics and
Images

(B) Give provision for better document
binding

(C) Improve the clarity of the printed text

(D) Facilitate the insertion of page numbers

Q49 Which of these districts of the state of Uttar
Pradesh does NOT share its border with
Nepal?

(A) Pilibhit

(B) Shravasti
(C) Sitapur

(D) Maharajganj

Q50 Which of these districts of Uttar Pradesh lies
on the UP-Bihar border?
(A) Basti
(B) Bulandshahr
(C) Banda
(D) Ballia

LM-A 20
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Q48

Q49

Q50

Microsoft Word @ e # rew wifu

ame wrey @ Fefafaa 9 @ e

ferg awa s wman 87

(A) it afiv frst &) v § guR
@ @ fav

(B) @&t Sfapie @gfin & waud &
ferg

(C) fits 2ave &t T 9 §uR &
@ forg

(D) T wwl S Sie # giur e
e & fa

FER w2y oy &1 Bl fien Jure @
W o e e W e @7
(A) drefnfre

(B) s

(C) Ay

(D) WERTGTT

TR g9 &1 B e 9eR wew iR
faer A ¥ Rem B9

(A) TER

(B) FeiawEy

(C) @

(D) aferan
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Q51

Name the national leader who undertook a
marathon walk called *padayatra’ from
Kanyakumari to Rajghat in Delhi in 1983.
The intent of the yatra was to renew rapport
with the Indian masses.

(A) Chandrashekhar

Q51

a8 $ ¥ e T & e ad 1983
# sy A dax Rl & wone
0% USAEr e e g fe o
@ 41?7 g9 UIA T LW AR Sl
& WY HaY B TG B )
(A) T=IER

(B) LK Advani (B) oiegw Jrsared
(C) Ram Vilas Paswan 2 (C) RS TR
(D) V.P.Singh ~ (D) ffRiE
Q52 Name the Indian Prime Minister who Q52 TW ARG WrEHAT @ 3@ A & e

announced in the parliament that he would
implement the Mandal Commission's
recommendations. This declaration triggered
nation-wide protests in India.

Hoe A gg uon @ o) 5 a' Hea
s @ fawRe ® arp #6917
HiHon | R # S Ay 1w 8

Tan |

(A) RajivGandhi (A) wroirg T

(B) VP.Singh (B) A4 i

(C) Chowdhary Charan Singh (C) =wrdt wwvr fe
(D) Chandrashekhar (D) TR

Q53 Which city in Uttar Pradesh is called ‘suhaag Q53 IR weW & fFw wew & qerT T
nagari’ because it is famous for making glass wEl o 8, 4E wER @ig A e
bangles? 1 @ fog wfhg 7
(A) Firozabad (A) T
(B) Gorakhpur (B) TREYR
(C) Varanasi (C) T
(D) Bareilly (D) ¥l
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Q54

Q55

Q56

Q57

LM-A

Who among these following leaders is also
the head priest of the Gorakhnath Temple
and Math?

(A) UmaBharati

(B) Yogi Adityanath
(C) SriSri Ravi Shankar
(D) Mahant Paramhans Das

Sarnath, the sacred place where Lord
Buddha delivered his first sermon, is located
very close to which of these cities?

(A) Mathura

(B) Ayodhya

(C) Jhansi

(D) Varanasi

Which part of Uttar Pradesh is famous for
the delicately embroidered sarees called
“Chikankari sarees™?

(A) Moradabad

(B) Lucknow

(C) Meerut

(D) Prayagraj(Allahabad)

Name the poet and saint who wrote
Ramcharitmanas, another version of the
Ramayan.

(A) Ravidas

(B) Surdas

(C) Kalidas

(D) Tulsidas

20703135
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Q54

Q55

Q56

Q57

fopaiferfaa <ol 3 & @ @ S v
i ol wo & e qund) o &2

(A) o1 Wil

B) arfi anferm

(C) i = A wiww

(D) wEa UTTEw o

w98 gfs wE ol wraE g9 A
YT UBe Sudy fEar ar, aw Frsfofas
fre wew @ aga wwdls Rem 87

(A) wroqr

(B) e

(C) =i

(D) arord

T RN @ P W wer e
wifsar e gax ser arel) wisar @
forg uftig &7 :

(A) =R

(B) oaT%h

(C) 3

(D) WA (§STEEnE)

aE @ W Hf afie v & el o
&1 UH ORI Hepee e
ur?

(A) “faamw

(B) ¥Em™
(C) wfe=m

(D) gersitara
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Q58

Q39

Q60

LM-A

Name the South Indian King who
vanquished the forces of the Dutch East India
Company in 1741 in the battle of Colachel.
(A) VeeraPandya Kattabomman

(B) RajaRajaChola
(C) Marthanda Varma
(D) HaiderAli

Name the famous warrior begum from the
principality of Awadh, who fought the British
as part of the | 857 mutiny?

(A) Begum Hazrat Mahal

(B) Begum Raziya Sultan

(C) Begum Jahanara

(D) Begum Meherunnissa

The first emperor of the Mughal dynasty,
Babur, has written an autobiography in his
native tongue of Chagatai Turkic. What is
the name of this book?

(A) Mughalnama

(B) Babumama

(C) Baburmubarak

(D) Baburbihaya

Q58

Q59

Q60

713735

s A @ 5w T A af 174 A
Framd ® gerg 4 su fw §fsw soh
P e far ar?

(A) dRmuTEar HEErE

(B) I AT A

(C) wrfvs awf

(D) #=% el

s ) Rara § 99 ullg agr am
o AW w0 & el 1857 @ fEw A
il & A 8 areh wor #§ W form
or?

(A) 979 E9RE WEd

(B) ¥ R Fear

(C) 7w SrefamT

(D) ¥ dEef~a

TIe 99 & UES WEE AN A J
29y W wrond gfdie A sl ancren
foredt 81 g0 QWIS &1 A FUr 27
(A) e

(B) ¥

(C) AEHATS
(D) amafawman
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Q61

Q62

063

When Atal Bihari Vajpayee became the
Prime Minister for his first tenure in 1996,
what was the closest approximate duration
ofhis Prime Ministership?

(A) Twodays

(B) Two weeks

(C) Twomonths

(D) Two years

Name the celebrated physician in the court
of King Bimbisara who was the personal
physician of Lord Buddha himself.

(A) Ajathashatru

(B) Sariputta

(C) Jivaka

(D) Rahula

Which of these statements is TRUE with

regard to the poem *Amar Sonar Bangla’

penned by Rabindranath Tagore?

(A) Itwas Tagore's first ever poem,

(B) This poem later was adopted by
Bangladesh as its national anthem .

(C) This poem fetched Tagore the Nobel
Prize.

(D) The poem was a school prayerat
Shantiniketan.
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Q61

Q62

Q63

1996 % 914 ded fasml aond st an
WUFEA 49 &, o S8 guEE & w9
S Fe B T A e 97
(A) =1 fa=

(B) a1 Bl

(C) 2 #éF

(D) @1 W

vwon fifawr & w4 9w uieg
ferfreer @1 @ = & W wraE g8 @
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(A) 3ramaery

(B) wfysr

(C) oita®

(D) “Tga

wdtear &M g fordt wd wfaen ‘MR

HMR arar @ wdy o Pefaiae 4 9
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(A) T8 2R 9 gsell Hfyar oy
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(C) 59 ofdm & forg S & ae
grEnR R Tan)

(D) 38 @R wiafaa 4 @ e
el ot |
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Q64

Q65

Q66

LM-A

India’s 5-year plan system was adopted
from Russia. Name the Russian leader who
first implemented the S-year plan approach
in Russia.

(A) Vladimir Lenin

(B) Joseph Stalin

(C) Leonid Brezhnev

(D) Nikita Khrushchey

Near which European capital would you find
the Palace of Versailles?

(A) London

(B) Paris

(C) Rome

(D) Brussels

The two famous universities of Oxford and
Camhrkigemlmmdinwhinhmtry?
(A) France

(B) United States of America

(C) United Kingdom

(D) haly

20353135

Q64

Q65

HRa Bt va adiy Ao vonch @ ww A
SIGSTIT 7T &1 | I S AT 7 @ W
& R veeh ar w9 ¥ vu ity g
® giesior Y sy Ry ar

(A) wnfei afs

(B) wrw weiferm

(©) forafrs dora

(D) ffear gei

et 1 e Pt % @ R e
WA B g R &7

(A) dea

®) Rw

(C) ¥m

(D) #w¥ew

dfeawre R dfww TvE @) ufg
Reafraea Frafafea fa 2u 4 fem
&

(A) s

(B) wgT won e

(©) s fimen

D) g
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Q67

Q68

Q69

How many total biosphere reserves are there
in India?
(A) 10
B) 12
(C) 18
(D) 25

The Dandeli Wildlife Sanctuary is located in
which Indian state?

(A) Kerala

(B) TamilNadu

(C) Telangana

(D) Kamataka

In which of these hill stations would you find
the Cheeyapara Waterfalls, Pothamedu View
point and Attukad Waterfalls?

(A) Munnar

(B) Ooty

(C) Kodaikanal

(D) Yercaud

LM-A
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Q68

Q69

(A Rod) 87
(A) 10

(B) 12
(C) 18
(D) 25
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Q70 Thecity of Venice, criss-crossed by canals

Q71

and bridges, is located in which country?
(A) Denmark

(B) Scotland

(C) France

(D) haly

Mount Etna, considered to be the most
active volcano of Europe, is located in:

(A) Portugal

(B) Spain

(C) Greece

(D) laly

Ponmudiis a small hill station in South India.
Itis located near which of these cities?

{A) Kozhikode

{B) Madumi

(C) Thiruvananthapuram

(D) Mangluru

LM-A
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Q70 #ﬁmmm‘rﬁ?‘ﬁaﬁ??ﬁ#gﬂa
Fr=fofaa e 2w 4 flug 87
(A) a7

(B) wicds

Q71

Q72

(C) wis

(D) geeh

e ve N, R qug @ waw wivg
ATt A o &, aw Preff i
A 5w 2w 4 fleg &7

(A) gebmre

(B) ¥

(C) i«

(D) geel

W), 2@ ana @ e v w Ra
W ¥ 7% 5w wev B ury e &2
(A) ®idwrs

(B) wgwd

(C) Rvwariorgen

(D) #rgw
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73 Name the city that is the capital of Western

Q74

Q75

LM-A

Australia.
(A) Darwin
(B} Perth
(C) Brishane

(D) Hobart

Article 161 of the Indian Constitution confers
pardoning powers and commutation of
sentence powers on.

(A) The President of India

(B) The Prime Minister of India

(C) The governors of various states

(D) The Chief Justice of India

Articles 5o 11 of the Indian Constitution deal
with which of these aspects?

(A) Citizenshipofindia

(B) Languagesin India

(C) Boundaries of Indian states

(D) Education for children
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Q73

Q74

Q75

frafafiga § & @\ @ e 9
sifeeform & o 87

(A) &ifd=

(B) wef

(©) fas

(D) B
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(A) WRa & Ui
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Q76 Which of the options will come in place of
the question mark (7) in the following
equation?
123+lﬁx3-?x2=|

7T-6x6-3
(A) 16
(B) 49
(C) 60
(D) 128

Q77 1000 boys and 600 girls are examined in a
test. 43% of the boys and 35% of the girls
passed. The percentage of the number of
candidates who failed is:

(A) 40%

(B) 50%

(C) 58%

(D) 60%

Q78 A finishes a work in 9 days and B finishes

the same work in 18 days. In how many
days will they together finish the same work?
(A) Idays
(B) 6days
(C) 8days
(D) 9days

Q79 How many minutes will Preethi take to cover
adistance of 500 m, if she runs at a speed
of 30 km/he?

(A) Imin

(B) 2min

{(C) 5min

(D) 6min

LM-A
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SECTION-3 | GENERALSCIENCE / ARITHMETIC | 50 QUESTIONS

Q76 Fr=fefem witwwnr § weifee (7) @
wH R Ffafea 8 9 @ 9 fdes
amo?

128 +16x3-7x2 __
?7-6x6-3

(A) 16

(B) 49

{C) 60

D) 128

f wham 4 1000 523 sl 600 =)
&1 9fe ot ol @ | Few! A @ 43% iy
wefd F | 35% ow B &) ow B
T orEl = g it
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(A) 40%

B) 50%

(C) 58%

(D) 60%

Q77

Q78 ARt I 31 9 R 4 qur aven # ok
B & @t 18 R # gy swver 21 4
2Ft e e ¢ od I B s e
% Ou HEr?
(A) 3fa=
®) 6R=
(©) 8R=

®) 9R=

af WY 30 kmv/he B WY § D 2 W
I 500 m A g B TG T F v
| &

(A) Imin

(B) 2min

(C) Smin

(D) 6min

Q79
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Q80

Q81

Q82

Q83

LM-A

Which of the following cars with speed given
below is the fastest?

(A) 90 km/hr

(B) 25 m/sec

(C) 1500 m/min

(D) 100 km/hr

A solid right circular cylinder has a radius of
21 cm and height of 16 cm. What is its
curved surface area?

(A) 2000 cm’

(B) 2002 cm’

(C) 2010 em?

(D) 2112em?

Two pipes Aand B can fill a tank in 16 hours
and 48 hours respectively. If both the pipes
are opened simultaneously, how much time
will be taken to fill the tank?

(A) 10hours

(B) 12hours

(C) 15hours

(D) 16 hours

At present, the ratio between the ages of
Vimal and Vinay is 4 : 5. After 6 years,
Vimal's age will be 26 years. What is Vinay's
age at present?

(A) 20years

B) 21 years

(C) 25 years

(D) 30 years

G LELROT
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Q80

Q82

Q83

9 A iy arch Frefafi R 4
{9 @ PR FEd a9 87

(A) 90km/hr

(B) 23m/sec

(C) 1500 m/min

(D) 100 km/hr

uas @1 @d geiia g @t B 21 em
aflk S 16 cm 8| §9% @ Hael
(curved surface) & BT FET |
(A) 2000cm’

(B) 2002 cm’

(C) 2010cm?

(D) 2112em?

A afie B &Y urgy Rl &6 #1 16 62 3l
48 ©i2, A W R wwa 8| afg <
qreq v HY @ Ry g o g6
e A fere S e

(A) 1092

(B) 1262

(C) 152

(D) 166

adwM A e ok fmm @ ag @
arare 4: 5 &1 6% are fwe A 3wy
26 o g1 e | @b i e @ ey
87

(A) 204

B) 2134

(C) 254

(D) 30ad
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Q84

Q85

Q86

Q87

An accurate clock shows 9 o’clock in the
moming. Through how many degrees would
the hour hand have rotated when the clock
shows 3 o’clock in the afternoon?

(A) 150°

(B) 155°

(C) 175

(D) 180°

Ifa straight line intersects the sides AB and
ACofa AABCatDand E respectively

AE
Ac !

and is parallel to BC, then
AD

EC

i?_

DB

AD

AB

DE

BC

(A)

(B)

(C)

(D)

A system of two linear equations in two
variables is inconsistent if their graphs:

(A) cutthe x axis

(B) cutthe yaxis

(C) coincide

(D) donot intersect at any point

If 6 =45° then cos? 6 + sec? § =9
(A) 0

(B) 1|

(C) 2

(D) 2.5
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084

Q85

Q86

Q87

U WIS U8l [aE 9 99 &1 W fRand
81 @ uH e B 390 Rard & o
e @1 g¢ R Rl w g

(A) 150°

(B) 155°

(C) 175°

(D) 180°

afe Rt Brgor A ABC @ yorr AB 3
AC &1, i ¥t Y@ D 3 E we mwm
Fredl & 3 78 BC & wrion &

AE

__,='?

AC
AD
EC
AD
DB
AD
AB
DE
BC

(A)
(B)
(©)

(D)

<1 Yelta Wil ) ve o) o < e
(A) x 3% T

(B) y ti B

(C) 3®Y B (coincide)

(D) feh A fig o wftredg 7 &%

af% 0 =45° B, T cos? O + sec? § =2
A) 0
(B) 1
(©) 2
D) 2.5
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Q88 Ifthe system 6x—2y =3, kx—y=2hasa Q88 afE womedl 6x— 2y =3, kx—y= 2T UH
umique solution, then: sfeda (@) 5«1 ¢ O
(A) k#3 (A) k #3
B) k=3 B) k=3
(C) k#4 (©) k=4
D) k=4 D) k=4
"Q89 The square of any number is divided by 4, Q89 it i wem @ o = 4 W feafor
then the remainder is: Fel U fapeT 9w a=ar 87
(A) 1 (A) 1
B) 0 ®) 0
(C) either 1 or0 (© wiAm A0
(D) neither 1 nor 0 o) 71T 80
Q90 While resolving 1500 into two factors, the Q90 1500 B B U Wl A R ¥
possible number of ways is: afrat @ Renfom e o wwm &7
(A) 12 X (A) 12
®) 18 g ®) 18
(C) 36 8 (©) 36
D) 24 D) 24
Q91 Theratioof Amit'sageand Anu'sage,nine Q91 o yes, af ok o @ Ay &

S 5:7wn| o s @ 5 af A,
Prefafa & | o7 W o9 Ig @

years ago was 5 : 7. Then 5 years from now,
which of the following CANNOT be the

ratio of their ages? IR AT B w87
(A) 13:19 (A) 13:19
B) 11:13 ®) 11:13
(€) 15:16 (C) 15:16
(D) 21:25 (D) 21:25
Q92 Eachoftheinterioranglesofacyclicpolygon Q92 ‘o’ SOTRIT AT (e Tt A (A

with ‘n’ sides measures 144°. Then, the
measure of the angle subtended by each of
its side at the peometric centre of the polygon
K

(A) 30°

(B) 144°

(C) 54°

(D) 36°

LM-A
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dtdr) 3 wda AaR® ST B A
144° ®) o1 T @ A FE W
T U N BIRT Y Y BT A
Hg faseen g?

(A) 30°

B) 144°

©) 54°

(D) 36°
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Q93

Q96

LM-A

If sin’ @-3sin# +2
cos’ @

(A) 45°

(B) 60°

() 30°

(D) 0°

= 1, then & can be:

Club A had won 30% of the first 60 matches
it had played in a particular season. Then
the minimum possible number of additional
matches the Club A should play to achieve a
success rate of 44% in that season is:

(A) 15

(B) 20

(C) 30

(D) 25

What was the name of the mission, an anti-
satellite missile test, carried out successfully
by the DRDO on 27 March 2019 from Dr
APJ Abdul Kalam Island launch complex?
(A) Mission Parakram

(B) Mission Shakti

(C) Mission Vikram

(D) Mission Sahas

What is the application of the GSAT-31
satellite launched by India on 6 February
20197

(A) Earth observation

(B) Navigation

(C) Climate and Environment

(D) Communication

i
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Q93

Q94

" 1 [
afy S0 -3sinf+2_ )8 o o v

cos” 8
avER Bn?
(A) 45°
(B) 60°
(C) 30°
(D) 0°

W AR U e 4 99 10 gs9 60
et A | 30% fa A B o goe AT
T o T 44% B AT 7% B
w1 @ fay e sfiRen =prw 49
A Tifey?

(A) 15

(B) 20

(©) 30

(D) 25

DRDO gR1 27 7€ 2019 &) € vdr
¥EE Fam @9 gAyw gftew 9,
UEHA® (E-#ame e vdemr
fan man e, g6 Prem @ w7 o
(A) T ey
B) firerm ufd
(C) P Rmw
(D) fer W

6 BYadt 2019 B WG gRT @fFa v v
GSAT-31 9yus & fr=fafaa 4 & 299
W 3w 87

(A) =t = s

(B) e wg+

(C) woraryg v aramaww

(D) wER
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Qw7

(98

Q99

Name the nuclear-capable surface-to-
surface intercontinental ballistic missile
developed by the Defence Research and
Development Organisation (DR DO).

(A) Prithvilll

(B) Trishul

(C) Agnis

(D) Barak-8

Which of the following is a part of the
process involved in water cycle?

(A) Evaporation

(B) Sublimation

(C) Freezing

(D) Melting

Deficiency of which mineral causes anaemia?
(A) Magnesium

(B) Iron

(C) Zinc

(D) Lead

0100 Which ofthe following is a commonly used

chemical method for purifying water?
(A) Hibemnation

(B) Excavation

(C) Chlorination

(D) Denitrification

Q101 Which of the following is the source of

freshwater?
(A) Ocean
(B) Sea

(C) Brine
(D) River

LM-A

20965215

i4

Q97

Q98

w11 argaeT 3R @@ Wres (DRDO)
gl Weg ¥ waE o frenfin awe- e
sm-meerd dfafes Mame &1 9
aar &7

(A) gt i1l

B) e
(C) affa 5
(D) a¥H-8

Prefafigg A § o @ wftkar o o A
wifte wfhar @1 v e 87

fapefarfiaa 3 9 frw @fST (mineral) 3
wf & vifian g @87

(A) F=ifmaw

(B) <ieT

(C) S

(D) dra

0100 UFl @ Ug & B g IR W

Q101

g fsar o AT VR e
frefafaa 4 4 o= @ &7

(A) Hhafferaar (eTgavae)

(B) Ie@T (TFEEHAYA)

(C) TRl

(D) IATEEIHTT

Prefafaa 4 | o9 92 oF B T
aregT W 87

(A) HETHTTY

(B) ¥R

(C) @1 gl

D) 7
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Q102 Which of the following is a good source of

Q103

Q104

Q105

' Ql06

vitamin A?

(A) Fishoil
(B) Sugar

(C) Banana
(D) Coconutoil

Sound CANNOT travel through:
(A) Gas

(B) Vacuum

(C) Liquid

(D) Metal

Which form of energy causes a matchstick
to ignite into a bright flame when the
matchstick is struck against the match box
surface?

(A) Potential energy

(B) Kineticenergy

(C) Chemical energy

(D) Wind energy

CGS system of measurement units stands
for:

(A) Coulomb, Gauss, Steradian

(B) Celsius, Grade, Second

(C) Centiliter, Gallon, Siemens

(D) Centimetre, Gram, Second

In Electronic Communication Systems, noise

refersto:

(A) unwanted signals that tend to disturb
the transmission and processing of
message signals

(B) loud music harming the eardrums

(C) sensation of hearing that is not audible

(D) unwanted sensations that disturb
messages

'\d
l'\-l
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Q102 Fr=faftee % & v w1 fefis Az 0P

aresT W 27
(A) WO &1 ae
B)

(C) Fen

(D) a1 da

Q103 wf Fraferflaa % & frw weaw F oy

T8 B wEa &7
(A) #

®)

(C) =a

(D) 1y

le Hier @ feeht 2 waw 9 o e A

dielt vl 8, o oo @ #59 W ey
& gaae o ¥ woafem 89 @1 mew
a7 87

(A) Refar Fof

(B) TR St

(C) wmfrs wot

(D) aryg St

Q105 ¥ gwigdl & CGS womeht ) FAr=ifaifige

H | F gftam &2

(A) T, 7, wfeay
(B) dfeww, ¥e, das
(C) Hfefoex, fam, g
(D) ¥&frer, M, vas

Q106 ol wam gonfort i viv Pt

A A 5 weflfa e &2

(A) sm@ifea Ry o w2y Ry @
WAV 3% e F amr sad &

(B) T & JHar vE=r e dw
e

(C) ¥ &f g o gt iy ot &

(D) smEifew wae=g @ w2t § qm
e &
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Q107 Which of the following is TRUE about the
process of evaporation?
(A) Itdoesnotdepend upon humidity level.
(B) Itincreases with increase in surface
area.
It decreases with increase in wind
speed.

It decreases with increase in
temperature.

(©

(D)

Q108 Plaster of Paris is a product of:
(A) magnesium
(B) ahaminium
(C) calcium
(D) sodium

Q109 Which of the following statements is TRUE

about natural rubber?

(A) Itisanatural polymer and possesses
elastic properties.

(B) Itisanartificial polymer and possesses
elastic properties.

(C) Itis notapolymer but possesses elastic
properties.

(D) Itisanatural polymer but does not
possess elastic properties.

0110 Which ofthe following is a form of calcium
carbonate?
(A) Washing soda
(B) Bakingsoda
(C) Limestone
(D) Table Salt

15

]

2016
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an?mﬂﬁmﬁﬂﬁﬁﬂﬁrﬁﬁ

# 9§ = 6 87

(A) U T B WX o Pl 8 & 8 |

(B) TE w8 @ &= # gfE 8 W T
gl

(C) Ts g1 A 7y ¥ gfg ¥ W ue
wri B

) 7§ aEE gy R W ae SRl
gl

ansﬁﬁﬂwﬂﬁwﬁmﬁm#ﬁm
s Ig 27
(A) i
B) i
(C) dfceras
(D) wifEam

Qm?mqsf?ﬁﬁma‘:mﬁﬁmﬁmﬂﬁﬂ

N e e 87

(A) T8 UF WiPhS Eae ¢ 3R g
draer 7 B &)

(B) UE UH P wAS & M g
wmer 7 B &)

(C) T8 U qged A6 & AR g
ArheR U 21

(D) T& UF WIPHRID TEAT & Al g
dreeEr o Té R 8

Q110 Fifefaa 3 @ # W Biteram FEFE
&1 13 W 87
(A) difim e
B) AT wer
(C) T
(D) &< Wi (77 )
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QI11 Dietary intake of is essential for
the normal functioning of thyroid gland.
(A) sodium
(B) calcium
(C) iodine
(D) potassium

Q112 Which microorganism is Penicillin obtained
from?
(A) Amoeba
(B) Virus
(C) Protozoa

(D) Fung

Q113 Which of the following diseases is caused
by the deficiency of vitamin A7
(A) Rickets
®) Scurvy
(C) Nightblindness
(D) Pellagra

Q114 Which of the following diseases is caused
by the deficiency of vitamin B1 (thiamin)?
(A) Rickets
(B) Beriberi
(C) Night blindness
(D) Pellagra

Q115 Which among the following is a vitamin
deficiency disease in which dark red patches
occur on face, neck, hands, calves and feet?
(A) Pellagra
(B) Thyroid
(C) Anemia
(D) Keshan

LM-A

ZB0Z0Z

QI ¥ag (urdigs) 1% & W s
& forg amer # Prefafae § 3 fraes
A BN T 27
(A) wifEam
(B) Hfearam
(C) smardr
(D) " firm

% Q112 Wfufem b ol o wrer rar &7
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(A) i
(B) fawm
(C) Wi
(D) Ta®

e A% &0 @ Prafafeg 49 a9
W1 Y07 Brew &7

(A) Raew

(B) wadi

(C) welieh

(D) Hamm

Q113

Refm B1 (Rrfe) & = @
Frfaftea & 9 @ @ 9 g 27
(A) Raew

(B) T8

(C) wehdt

(D) Tema

Qll4

Q115 Fr=faflm & | o va R 6 od
& VT B ae v & et auy, e,
' 3R 891w e e v B ae g
e &7
(A) Samar
(B) uitas
(C) wifiyar
(D) F¥
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(116 Blood enters the kidney through the:
(A) renal artery
(B) extemal iliac artery
(C) axillary artery
(D) ulnarartery

(0117 Which among the following organs secretes
bile juice?
(A) Hear
(B) Brain
(C) Kidney
(D) Liver

(118 Which among the following diseases is very
rare in women as compared to its occurrence
inmen?

(A) Myopia

(B) Kidney stone
(C) Braintumor

(D) Colourblindness

(119 Haemoglobin is the protein inside red blood
cells that carries:
(A) oxygen
(B) carbondioxide
(C) nitrogen
(D) ozone

Q120 Whichofthe following isequal to
8.13 x 1077
(A) B31000
(B) 8310000
(C) 813000
(D) 8130000

LM-A
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Q116 fred afa & # vaa Frfofes 4 9
fare W | waw wvar 87
(A) g5 T
(B) WEd shorard @it
(C) mefr (vfrrerdl) e
(D) e wfto® () o)

Q117 Frefafa it @ $ w3 fe
&1 wa o 87
(A) =4
(B) wftss
(C) Taf
(D) agpa

Q118 Prafaflea # @ &= wr W1 goui &
e % wRensl ¥ aga #% o &
(A) Preegie 2w (Arafa)
(B) farsh % gerdl
(C) ¥ TR
(D) Toifera (FeR @RS

Q119 frraifas ae Ea @RIl P e
o @ e ¢ iR g Frefofes A
forere @ @ 87
(A) aifaira
(B) T SERIATTETS
(C) =mggIo
(D) 3=

Q120 fr=fafaa 4 @ @19 W Re
8.13 x 10¢ & qyay &7
(A) 831000
(B) 8310000
(C) 813000
(D) 8130000
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Q121 When 0.353535... is converted into a Q121 T4 0.353535... & = % a=ar oy #

fraction, then the result is: ot afRomm @ g?
(A) i (A) 22
29 09
35 35
(B) 100 (B) 100
(C) 2 (C) L

oot
|~ &

(D) 9 (D) 99
Q122 What is the HCF of 22x 37, 5% 7. Q122 2237 575 7, 2532 5" 7 2R
2x3xSxPand 53577 2% 3% 5 x T &1 qETH HUaAE
(A) 210 (HCF) sty &7
(B) 420 (A) 210
(C) 1005 (B) 420 |
(D) 1050 (C) 1005
(D) 1050
Q123 Solve the following. Q123 fwiferfeae &) gat ¥
36 _1_, Ji’é_lz?
81 9 81 9
4 4
(A) 3 (A) 9
5 5
(B) 9 ! (B) 5
4 I 2 I
(C) 9 & © 3
' 2 2
(D) Y (D) 3

Q124 A number is as much greater than 55 as it is Ql24 7o wem S5Q So & ad) & i 5

lesser than 79. The number is: a8 799 U1 &) wWear g o)
(A) 59 (A) $9
(B) 63 (B) 63
(C) 65 {C) 65
(D) 67 (D) 67
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(125 The sum of three consecutive numbers is 96,

The greatest among these three numbers is
(A) 28
(B) 31
(C) 33
(D) 43

LM-A
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0125 AR @ |l & 4 96 ® 1 ¥

{18 =i

& sl ¥ wad 18 e oW W A7
(A) 28
(B) 31
(C) 33
(D) 43
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Q126

Q127

Q128

Q129

LM-A

SECTION-4| GENERAL HINDI |25 QUESTIONS

O SR U WWT B o wf 2
wifse ug #F ae w geet &

" 0

(A) @

(B) afeyavor

(C) HHErF

(D) 3Er

T T OB R @ fa o @

SEIBY B

(A) wfewr ads

(B) warey e

(C) wfemr @

(D) e

T I @1 et e fsar —

W /| F AW 9eg @1 ey

Freferfaa & & @ wr &2

(A) v we1 & § frf

(B) ¥%1 w1 3iv 38 Fciy oife gam

(C) ¥ @ % 99 Pty aifte fsa
iy |

(D) w4 & 6 & v = fashy
Effa e T §)

R R & wam 21 gt & Prafafaa

i R @ W Ty wd R

(A) 95 33 9, T80T o¥ 9, a7 e &

(B) |, Gt a® m W &

(C) =81, 718l a1 =9 & & wHan

(D) e, =E e R Y, W @ g
T &
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Q130

Q131

Q132

Q133

Q134

U vrEar qErEy wr wf st @
E?

(A) ufedl w16 @

(B) aftss FHwa

(C) 780 <-4y Fwn

(D) W e

AT B A WiE - S @ wd)
el 7 #7

(A) W= 5 &9 3R Rt g

(B) = W # #¥1, 71 WY # g
(C) v ara

(D) =1 vs 9 gm

& wftw @ s & g o@ @
dReTeIT T W) e T #2

(A) nfewra

(B) wiaerenrer

(C) i

D) 3ImgFHs B

Fefafaa a8 dm @ YOl gevireTd
o 1l 87

(A) YaERaaEw

(B) e

(©) Spwritame

(D) waTHTe

& &1 wom whER vm 9w ar
(A) &9 o7 g

(B) 9%d wrive

(C) eRew ulm

(D) W]
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Q135

PSGI

R A e Il s e g 27
(A) WFTE SO

(B) HEHMTH STHY

(C) A YR

(D) ¥i=EH s

fpifarfian el &1 IETa+ B
alv <" fBv v wet (wes Hear 136-
138) & IR &

Megea awsR 7w o WPl AR
aifia @ Squifea awan &) =,
yeiea sl ufdm smemor & M 8
frage woER yae o @ oy
fmen 2| gud wm @ el agd
¢ | ioam afe a@ gga WA &
| Yiregan waeR ¥ HEE §¥ 9T
2| o9 anvier s waw o Rufedd
afl S Bl | T O [y
ATt &1 g e 8, o Wl
W @ o e & | Sierar =i
A H@9F A aF A W dnl @
e e | ¥ g wepeqef
gren @ ¥ Rl w1 @ fred &)
Aaa_ 7 s | siferm-seime,
fiwrs—Reml, sel-asl anft wht @
forg dfreqaa eeR w9 &9 @
amras &) Remfl § R A =
avE & o 78 I e A o
fawn wrar 6l B wHar| Meaw fe
@ @ e # areifawE @ gfa
W & BF @l @ R W @ IS
wffoea & wdd=or an W &1 &
apey 7o @ Sufefy # st o

21204089

0136

Q137

s anfi faRal @ dra, fao
v Rafial @ da aur e 3R
it & §ra w3l we wae e
B & iR wE o A srigem |
afE O ¥ | 39 o1 @ W 9 PN
—ver aifa @@t 9 werf aftln wR
aar &) e e o R @ o1 e
2| g4 o @ sifofa R @ W B
qiiaiRes w@wer g6 o o Rsha afv
frenfa @ § aga 3 f
T w )

frafofa 4 @ o9 W a9 fa @

weu ¥ Toa 87

(A) Yegen wEER | @S ARmaRe
o1 fmior g 8

B) e e & o B

(C) wiafs Weor e o1 Rela
@t # el et Frm § )

(D) Yiega wWaeR VI3 A wAH
W W AT )

e ¥ Ywife ofw @ SfEwn amem

arfh:

(A) e wy g R wn &)

®) e s 3 fRmes w Wd e
wnfie o & 8

(C) ot e &1 wye vren & aEt o
o farga = armn)

(D) el o farem & o8 B @
W Eren #)




Q138 aiw A $ W W gIfET F A

Q139

Q140

Q141

LM-A

#?

(A) Fprafaa
(B) W@
(C) gwride

(D) revem

WA B TN YA, FIaiew w9 ar
91 U el et Wfferat @ o o
VET Bl, 09 99 T FET War 87

(A) @wateg e

(B) fergerT

(C) TR

(D) uRy=

9 Rrenag 9 At w=ReE gewn o
v B §Y 3 ) forar ar o farw
Ffe & aicefa amem?

(A) T

(B) aehomrwaig

(C) dufem=

(D) =TaEfas

Freiferfae % & & ar afmwr aiom 87
(A) |
®)
€) =
D) T

Q142

Q143

Ql44

Q145

Q146

Frefafam % & 919 w1 vy seaea
.14

(A) %

(B)

(C) 3h

@) ¢

o+ 37 e @ w a5 e &7
(A) T

®) sy

©) &

(D) [T

W {0 WA 37 SemEee &2
(A) i

(B) trgvw

©) fom

(D) €&

e wfedt wfte gw ol -
qrad A Y@ aa—-yan frafatag
q ¥ 5w 4T & SgEey &7

(A) SHwEmD

B) T

(C) wHarams

(D) fremfEaes

N 9 Righ o B &) -
T ¥ vaifda v e P ey e
& aferefa am?

(A) TorETaS

(B) sfammras

(C) wferdreor

(D) W
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Q147 Fr=fefaa # @ S5 O W& JwE 6
qafgard &7
(A) ©T
(B) ©cllc
(C) wnfer
(D) e

Q148 Fr=ifarftam 3 & @ w1 e g™ &l
Hl 87
(A) WE—3nm
(B) Ha-—-WIEH
(C) @3
(D) "g—91g

Q149 MEH-TE we-g™ & fay wAH
g™ g1 |
(A) ATA-TE
(B) EA-TM
(C) fra—faren
(D) fFraeh-frd

1 SASK08G

Q150 ‘ot gfeat & wga & amww 8-
qregin & o UF ue amgy |
(A) sfeafom
(B) sfeafue
(C) Ffawim
(D) Ewugy

-
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ROUGH WORK /% & & farv

BRGEG |
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ROUGH WORK /76 &1 & faQ

WPIPETLL
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ROUGH WORK /7% &1 & foy
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Read the following Instructions carefully :

freifafaa Adal & e | 9@

Out of the four alternatives for each guestion, only
one circle for the correct answer is 1o be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

. The candidates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet

. Handle the Test Booklet and Answer Sheet with care,

as under no circumstunces (except for discrepancy in
Test Booklet), another set will be provided.

. The candidates will write the correct Test Booklet

Series as given in the Test Booklet in the Attendance
Sheet.

Each candidate must show on demand his / her Admit
Card lo the Invigilator

Mo candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seal

The candidates should not leave the Examination Hall
without handing over their Answer Sheet 1o the
Invigilator on duty, Cases where a candidate has not
signed on the Attendance Sheet will be deemed not io
have handed over the Answer Sheet and dealt with as
an unfbir means case.

Use of Pencil/Electronic/Manual Calculator is
prohibited.

. The candidates are governed by all Rules and

Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfir
means will be dealt with as per Rules and
Regulations of the Commission.

16, Afler Examination Is over, candidate has to return his

Answer Sheet to invigilator. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed 1o leave the examination hall.
Candidate is only allowed to take Candidate's copy of
answer sheet.

Candidates are not ullowed to take Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator after the exam.

o

GG L

5

10, e & Sudie apell SR USRS PRI D

1. e & Suwia gdEmedt &) gden gRas

uds g @ fae fRy A ar fAwet i

w8 9o @ U 3 a aR. 9T 9EE W
ad T M B B g AE Fed qd e
¥ A W | UE aR I difea BT R @
418 IY 491 A8 o HHl ©

afierefl ghfaa & @ oW g=D B AE
4 oMU Ud oW OY o A= P amd
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